
 

 

Beanie Aldaran 

Matrerial: 

1 ball of Odin, circular needles 6mm or 4 needles, 

stitch marker, cable needle, row counter, tapestry 

needle.  

Points and abbreviations : 

k:knit 

p: purl 

st.: stitch 

m1: make 1 and knit it 

m1p: make 1 and purl it. 

SKP: slip, knit and pass the slip stitch over. 

SK2P: slip 1, knit 2 together and pass the slip stitch over. 

K2tog: Knit 2 stitches together. 

P3tog: Purl 3 stitches together. 

*…*: knit the motive between *…* as many times as necessary to finish the round. 

R: round 

T1, with 2 stitches: 

Method without cable needle: prick the second stitch from behind and knit it without passing 

on the right needle, then knit the first stitch and then let the two stitches pass on right needle. 

Method with cable needle: put the first stitch on the needle placed in front, knit the next 

stitch, take the first from cable needle and knit it.  

T2, with 8 stitches: put the 4 first stitches on the needle placed in front of the work, knit the 

4 following stitches, take the stitches from cable needle and knit them. 

Gauge (stocking stitch , 10cm/10cm) :20 rows/14stiches.   

http://lesaiguillesdecamille.com/category.php?id_category=81
http://lesaiguillesdecamille.com/product.php?id_product=384


 

 

Work : 

Cast on 72 st. in long cast tail, put the stitch marker to indicate the beginning of the round 

and form the circle, start to knit ribs:  

R 1, 2, 3, 5, 6, 7, 9,10, 11 and 13: *k2, p1* 

R4, 8, 12: *T1, p1* 

Body of the beanie: 

R1: *k1, m1, k3, m1, k1, m1, p7* (90 st.) 

R 2: *k8, p7* 

R 3: *k8, m1p, p7, m1p* (102 st.) 

R 4 and 11: *T2, p9* 

R 5, 6, 7, 8, 9, 10, 12 and 13: *k8, p9* 

R 14 and 15: *k8, p4, k1, p4* 

R16: *k8, p3, k3, p3* 

R 17: *T2, p3, k3, p3* 

R 18 and 19: *k8, p2, k5, p2* 

R 20, 21, 22 and 23: *k8, p1, k7, p1* 

R 24: *T2, p1, SKP, k3, K2tog, p1* (90 st.) 

R 25 and 26: *k8, p1, k5, p1* 

R 27: *k8, p1, SKP, k1, K2tog, p1* (78 st.) 

R 28: *k8, p1, k3, p1* 

R 29: *k8, p1, SK2P, p1* (66 st.) 

R 30: *k8, p1, k1, p1* 

R31: *T2, P3tog* (54 st.) 

R 32: *k8, p1* 

R 33: * SKP, k4,  K2tog, p1* (35 st.) 

R 34: *k6, p1* 

R 35: *SKP, k2,  K2tog, p1* (30 st.) 

R 36: *4md, 1mv* 

R37: *SKP,K2tog, p1* (18 st.) 

Cut the thread at 30 cms long, fix the top of the hat, bring in the threads and cut them short.  

Pattern: Les aiguilles de Camille.com. This model and achievements derived from it are for private use and not 

commercial, except written agreement of the author. 


